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SECTION =1
PHYSICS & CHEMISTRY

The plots of intensity of radiation versus
wavelength of three black bodies at
temperatures T,, T, and Tsare shown

Then

A ,>T,>T, @© T,>T,>T

B LESE LS

In absence of an external torque on 2
system, which of the following will not
change ?

(A) Both Linear and Angular momentum

(B) Neither Linear momentum nor Angular
momentum

(©) Linear momentum
(D) Angular momentum

With rise in temperature, the specific
resistance of semiconductors

b | )
Hifves s vd e fasm=

- A pfrerel, e @9 o, T, 9

T, § % fow Rfo & doar o

T & 7Y UM% WET T 2, gelia
g9

AT, >T,>T, BT>T>T

OL >L>T OIT, >T; >T,

el Fe w® 9@ g gy &
Juel 4, 791 5§ 9 @9 T8 9eamm?

(A) & IR B G ]E

(B w7 & Y& AT R T &/ HoN

i "

(Q Gy T () Zrefig WA

Ssuiee & R uRRw a9 $ ¥4
w

(A) Increases (A) gear g | (8) Rex w&ar ¢ |
(B) Remain unchanged (© ygel gear & S ssar & |
{C) First decreases then increases (0) gear g |
(D) Decreases
Page:2 581



4 A particle travels along x and y axes|4« Ty wp B x Ty & W

. ; s ) .
according to equations x = 4t2 + 5t + 14 X =42+ 5t+16 T y = ty RiIER Il
and y = 5t. The acceleration of the particle

P ITAR A PRl & | BT H @R

must be ! aifRe

(A) 4 m.sec™? (B) 16 m.sec™2 (A 4m2ms2 B 165 ame2

(€ 8 m.sec™2 (D) 5m.sec™? ©  gdawe2 (O 5o

The IUPAC name of is B ARLACH. 99

{A) 1 - Methyl cyclohex -2-ene (A) 1 - Methyl cyclohex-2-ene

(8) 3 Methyl cyclohexene (8) 3 Methyl cyclohexene

(€} & Methyl cyclo hexane (©) & Methyl cyclohexane

(P) 1 - Methyl cyclohex -5-ene (D) 1 ~Methyl cyclohex-5-ene
6. For the reaction 6. o= aifufsar ¥ 'Q-_&')[l'.ﬂ

{A) Increases (B) Decreases (A) gy | (8) gt} |

{€) Remain unchanged (€ w1 yRadT & BFm |

(D) Change cannot be predicted (0) g & wiasEh 58 @ gad|
7. The unit of Vander Waal’s constant ‘a’ is 7. grexdid Fradie g &1 AEe §

(A atm litre?’mol™ (8) dyne cm*mol 2 (A) atm litre2mol =2

(© newton m*mol 2 (B) dyne cm*mol 2

(D) All of these (€ newton m*mol 2

(0) I it
8 For the reaction & T & fow g & & @9 w1 ey
following fact holds good ? (A Kp =K (B)  Kp > K¢
(A) Kp = K¢ (8 Kp > K¢
(© Kp <Ke
(© Kp <K

®) gy R g, W& T8 e

(D) Kp and K¢ cannot be correlated
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Reaction of HBr with propene in the|s

presence of peroxide gives
(A) 3 bromo propane (B) All bromide

(¢} n-propyl bromide (D) Isopropyl bromide

. Which of the following molecules contain
both lonic and covalent bond ?

(A S0, (8) CH,CL,

(© K,S0, (®) BeCl,

. The r.m.s. value of the a.c. is equal to
(A) Twice the peak value

(8) Half the peak value

(© _L timesthe peak value
V2

(D) Equal to the peak value

. The general
Lanthanide is

(A (n-2)f"*(a-— 1)d*°ns*
B (n—2)ft"2(n-1)s?p®d® 'ns?
(n—2)f1° 1 (n— 1)d* *ns

® (n-—2)d* (- )i **ns’

. Inductive effect involves
(A) delocalization of o electrons

(8) displacement of ¢ electrons
(€} delocalization of 7 electrons

{p) displacement of 7 electrons

Electronic configuration of 1

odfE @ sfhur EESeE gEiEs &
Y RIFAES B OSIRART F T W

g BT ®
A 3FEr AE () TR gEss
(€ n-omEd SEES
(D) FEFOYUEA FHISS
 Prafafes eopEl ¥ ¥ R QNN
IRNFE T wEddSd 99 B ® ?
(A S0, (8  CH,Cl,
©  K,S0, (o)  BeCl,

. YIS IR &1 g-Ared-ge °MF ¥

(A) Br=R | &1 g
(8) RrER A9 BT M
© RreR w9 &1 = T

V2

(o) B 9 & F9Es

S = T SRS fre &

@ (n—2)" (- 1)d"%ns?
®  (n-—2)f*"%(n - 1)s*p°d® *ns®
© (n—2)f* "t (n—1)d* 'ns?

® (n-—2)d*(n— 1) 4ns?

. IROT TG § B WA © ?

A Ry (g)smﬂﬁﬁwﬁﬂﬂw
ts}m(g)sa@mwﬁwm

© g () ToER B RS
0 o () Soracrd BT R
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15.

18.

18.

. The oxidation state of chromium in

Cr(CO)gis
(A) -2 (B} O
() +2 (D) +6

Which of the following molecular species
has unpaired electron ?

a) 05 B N,

(€ 052 (b} F,
The compound which is commonly known as
Inorganic benzene is

(&) ByN;H, (®) B,H,

(€ CyNyH, () CH:B

- In Boolean Expression, which gate may be

expressedas Y= A+ B?
(A} NAND gate
(€) OR gate

(8) AND gate
(D) NOR gate

A particle starts executing S.H.M. from
mean position. lts amplitude is‘a’ and
energy is‘E’. At what displacement its

_ . 3E
kinetic energyis —?
4

. - 4 B y—ay2
© 4
@ = o &
3 5 y NG
1
The valve of is
 HgEp

(A 3 x10°m/s (B 3 x10*m/s

© 3 x10°m/s (O 3 x10%°m/s

15.

16.

TE:

18.

19.

- Cr(CO), ¥ WIfEH &1 SffaiiaRoT s

g
(A) -2 (B) o
€} +2 (D) +8

fr & 9 o9 @ sulide Wi
(species) 3R Solae Tl & ?

(A 07 (B) N,
@ 6;* )  F,

e AT ©F MG PG aiE
HET AT 8 ?

(A ByN;H; (8)  B.H,
geigw dismifta 4 #F W e
Y= AL B oufar &

(A} NAND 7 () AND e

(© OR T () NOR 7

Te Hul "y Refd @ e emEd Tfg
U™ BRAT & | THST IH g adl

ol EE | 5 e w sue i
o 3E gnft 2
4

(A) y=§ B y=ay2
4
@ __2 (D) _ 8
"= + V2
B AT &
vHgSp

(A3 x 10°m/s (B)3 x 10* m/s

©3 x10%2 m/s ()3 X 10®° m/s

LI
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20. A parallel plate condenser is filled with two

dielectrics, as shown in the figure. Area of
each plate is ‘A’ metre? and the separation

is ‘¢ metre. The dielectric constants are K,
and K, respectively. Its capacitance, in

farad, will be

(n) €A

e (Kl 5 Kz)
(B) 2€5A
: (K: + K2)
{C) EQA (Kl + Kz) {D) EQA(KL‘“ Kz)
t 2 t 2

21. A particle of mass ‘m’ moves with constant

speed along a circular path of radius v’
under the action of force ‘F.. It’s speed is

G ® Fmr
Jmr

© [ ©
Jm J r

2. T WAR we quRE R $ FgER

3 WideE TS W W £ | TRe Wi
B TG A qrgfgamréa’iﬂaﬂw

K

(A) GQA

_t'" Ky + K3)
(B) ZEUA :
: (Kl -+ Kz)
(€ €A (Kl = KE)
£ 2
(b) €A (Kl— Kz)
t 2

21Wmﬁwr—mm

Bomr ¢ 5 ST m W ed P F
g 7= = 5, B9 P A1 §
A " B Fmr

\:mr

(© !; (D) F
\E e

. At high pressure the compressibility factor Z| 22 Seq 1§ W ISl PIF Z ¥R g

is equal to (A) Pb (8) § ib_
w  Pb @ Pb T RT RT
-.-!— — — .
5E = © g ©) T
() Unity (D] Zero
Page: 6



24,

26.

27.

28.

The phenomenon utilized in an optical fibre
is

(A} Refraction (B} Interference
{C} Polarisation

(D) Total Internal Reflection

B,,C,H;,is isoelectronic with

(A} By, Hy> (B) None of these

© By, H;? () By, HY,

Air at sea level is dense, this is practical
application of
(A) Avogadro’s Law

(C) Charle’s Law

(B) Boyle’s Law

(D) Dalton’s Law

The correct order of dehydration of alcohol
is

(A) 2° > 1° > 3° (B) 1° = 2° > 3°

€] 3% > 2° 3+ 12 D) 19 5 39 o 28

What is the value of K, for PbCl; ?
(A [pp**] /[CI7]? @ [Pb**]CIT]?
© [pb*2][2CcI"]? ) [Pb*] /[2CI7]?

23 gy I F = aRuewr swm F§

24,

25,

26.

s oIt §
(A) g
(C}W
(0) qui iR qRIqeT

(B) =gferemvor

ByoCoH;, THRIaIG fwd o & 2

(N By, Hy, (B) 3T & BIg TE

© By, H_22 (P} B, Hfz

WE 99 W 9 ¥E9 (dense) & I®
YIRS AN ©

(A) IMarTET &t (8) gfged ot

© gt &t (D) Eroe=g ol

Tehled & foicieNo &1 el H9 &

B2 12 50 B P ege

(€ 3°>2°> 1° (D) 1° > 3° > 2°
- PhcL® U K, (Rean e @

Value &I & ?
(A [Pb?*] /[C17]2

© [pb*2][2C17]?

B [Pb2*][CI]?
(@ [Pb*] /[2CT7]?

The Chemical formula for Iron(lll) hexa|2s SRR (III) THANIEARE (II) &I
cyanoferrate (I1) is NEIDIEEAR e
(A) Fe;[Fe(CN)gl, (B Fe,[Fe(CN)¢ls (A) Fe; [Fe(CN)¢ly
(© Fe[Fe(CN);]  (®) Fe,[Fe(CN),] (B Fey[Fe(CN)¢ls
(@  Fe[Fe(CN),]
(0} Fey[Fe(CN)(]
Page: 7 5815804
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29.

30.

3.

32.

A galvanometer can be converted into a
voltmeter by connecting a
(A) high resistance in paraliel.

(B) low resistance in series.
(c) high resistance in series.

(D) low resistance in parallel.

Which of the following has maximum
lonization energy ?

(A) Ba — Bat + e (B Be — Be™ + e~
(© Ca — Ca*?+ 2e

() Mg — Mg*? + 2e

Phosphorus has the oxidation state of +3in
{A) Phosphorous Acid

(8) Orthophosphoric Acid
() Hypo-phosphorous acid
{D) Meta Phosphoric Acid

When light travels from an optically rarer 32

medium to an optically denser medium, the
velocity decreases because of decrease in
{A) Amplitude (B) Frequency

(c) Wavelength (D) Phase
By measuring spring balance, A person will
get more quantity of sugarin kg X wtat

(A) Poles (8) At 45° latitude

{0 At 60° latitude (P) Equator

29.

30.

31.

33

TF GRMEM P dlecdiey H WUTRRel
FE & forg SeT 9T ©
(A) TurR A A 9 URRE

® Sof ww A e ke

© S HH F 9= URRE

(D) TH=R B9 A e uikRE

R I fpud oEA el wdifed
8?

(A\ Ba »Ba"+ e
() Be — Be™ + e
© Ca—Cat?+ 2e

@ Mg - Mgt 4+ 2¢e

wepRyg e 7 9 feed +3 SRR
IR AT B ?

(A) HIEPRIT 37T

(B) IR BREIRS I

(© BIZU BIEPRT I

(D) T BIEPIR® I+

g yeTY UH yeraw R ey 3

T e WemH § o 8, 94 9
Tear €, e & "ed & SR

(A) IR (8) amgfr
(© gareed (®) HaT

RET g ¥ A W, TP ARG BT fE
e R B x WR H AR @ A
sarer faertt 2
(A) gaj W

@ goo &Y R

(B) 45c & W

(0) Eed @ W

Page: 8



3. The dimensions of Stefan’s constant is

(M [MLeT 3K 4]
(€ [M2LT3K*]

(8) [ML2T 2K ™*]
(O [ML2T 3K ]

37.

The momentum of a Photon in an X-ray|3

beam of 1071° metre wavelength is
(A 15 x 107**kg — m/sec
(B) 2.2 X 10752kg — m/sec
© 6.6 x 107%*kg — m/sec

D) 6.6 x 10™**kg — m/sec

The resultant of two equal vectors is equal
to either of them. The angle between
resultant and a vector is

(A) 120° (8) 180°

(@ 90° (d) 60°

A charged particle of mass ‘m’ and charge ‘q’
describes circular motion of radiusr’ in a
uniform magnetic field of strength ‘B’. The

frequency of revolution is

(A) 2mm (8 3Bg
3Bg 2mrm
(c 3Bqg (o) Bg
2mm 2mm
38. The moment of inertia of a ring about one of

its diameters is‘l'. Its moment of inertia
about a tangent parallel to the diameter is

34.

3r.

e &1 Fradie o) a8

(A) [ML°T3K™4]
®  [ML2T2K™*]
(© [M2LT3K*]
(o)  [MLZT3K™*]
1o~ #Hiex adee  drelt X-feRer #

BIEH ST T 8RN
(A) 15 x 107%*°kg — m/sec

(B} 22 x1075?kg — m/sec

@ 6.6 x107**kg — m/sec

) 66 X 107**kg — m/sec

g wEe afewl @ wRuvr yRle afkyr

¥ ¥R €, 99 uRURY 91 e afesr &
TG P B
(A) 120°

(B)  180°

© 90° @) 60°

T IaRE U, el g me a9
IR q, B v B & wig W W
THEAT TNeE &89 B H U e} XEl

2 | IRwHT B IGRT B

(A) 2mm (B) 3Bag
3Bq 2nrm

(c) 3Bq (D) Bag
2mm 2mm

T & TP A & GERR WIE &

|

T

(A) 21 (8) 1/2 () 21 (B) 1/2
(91 (D) 31 @ I (D) 31
; Page:9
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40,

41.

42,

43,

Which one of the series of hydrogen
spectrum is in the visible region ?
(A) Brackett Series  (B) Paschen Series

(¢) Balmer Series (D) Lyman Series

A P-type semi conductor is
(A) Positively charged (B) Uncharged

(c) Negatively charged

{D) None of these

The equation of a wave is
y=2sinm (0.5 x - 200t)Where xandy

are expressed in cm. and t is sec. The wave
velocity is
{A) 300 cm/sec.

{€) 400 cm/sec.

(B) 200 cm/sec.
(D) 100 cm/sec.

Which one of the following defects in the
crystals lowers its density ?
(A) Schottky defect (B Frenkel defect

(C) Interstitial defect (D) F-centres

Which among the following is most soluble
in water ?

{A) LiClOy (8) KClO,

(© NaClO, (D) CsClO,

Order of Reaction is decided by
(A) Temperature

39

40.

41,

42.

43,

vwﬁ@ﬂﬁﬁﬁmmﬁiﬁﬁm
T B ©

(A) gehe ol (8) grFEe SO0
© qER SOl (0) rgw Aol
T p-eIgy IEAAD §

(A) e SR (B) SFTART

(© FOTES AR

(0) g § P T

i A B L G

y = 2sinm (05 x-2008) & Sl x 3R
y B I A t B dpvs H AR

fopar &, 9T BT 97 ©
(A) 300 SEL.ATETS (8] 200 I RAGTS

(© 400 T.AFTE (D) 100 I AETS

ﬁﬁﬁﬁwiﬁmaﬁﬂﬁm
H & oIl © ?
(A) zifea < (8) bt IS

© ar=RTETER A (SexReliEd <)
(b) F-HeX

ﬁﬁﬁ@tm@faﬁ'cﬁwﬁﬁﬁﬂ

g € ?
(A)  LiCl0, ®  KClO,
(C} NaC104 tD] CSCEO_&

aRfe @ @t PufRa &k & T
EQl

I———
———
e
S———
ane—
=
=

{B) Mechanism of Reaction (A) qraETT
(€} Molecularity (D) Pressure ®) affr @ framfaf
(C) srupHEIdl (D) TG
il Page: 10



4. Arrange the Element S, P, As in order of |4 qgd gU IR WA (IIU"[

Increasing lonization Enthalpy. JH) & HA H S, P, As a«@l @I
(A) S<P<As (B) As<S<P ZaRRkerg By |
© As<P<S (D) P<S < As W S<P<As B As<S<P

© As <P <S P) P <S < As
#6. The S.1. unit of magnetic dipole momentis |46 Ty fGYd AU HT TH.IAE, 56 &

(A) Am? (8) N (A) oz rong T (B) YT
Am : s Hicy
(© TeslaAm=2 (@ Am™ © ZT=eEm 0 g et
EC{E

7. If in a nuclear fusion process, the masses of | 47. AP werga o, Tadgd HF  drol
the fusing nuclei be m, and m.,and the| < & TFAF m, IR  m, &

mass of the resultant nucleus be m;, then PN GeE ¥ WS R B E
A m;= m; + m, m, & @

B m;= (m;- m,) W mz=m; +m,

© ms<(my + m,) B mz= (m;- m,)

(@) m; > (m; + m,) @ mz;<(m + m,)

®)  mz> (my + my)

48 An example of a strong electrolyte is 4 Yqd dTA JTUCT BT SEIENV
(A) Sugar () Urea (A R (B) IR
(©) Sodium © Hifegs
(D) Potassium Chloride ) IR wIRSS

Page: 11
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48 |n the Young’'s double slit experiment with

sodium light, the slits are 0.589 m apart. The
angular separation of the third maximum
from the central maximum will be

(given A = 589 A)
(A sin~* (0.33 x 10%)

() sin~t (0.33 x107%)
(© sin™* (3 x107%)
©) sin~t (3 x 107%)

. Which of the following halogens has the

maximum affinity for hydrogen ?
(A) F, 8 I,
(o] Clz (D) Brz

49,

50.

dfeTs uere & WY T e Ya@n
F A ¥ Y- 0.589 W §X W &
g Shae & FE SREax § By
faeera g (R 8 1 =589 4)

(A sin~t (0.33 x 10%)

(B  sin~*(0.33 X 107%)
© sin™*(3 x107%)
() sin™! (3 X 107%)

frgr § ¥ B9 W gdH EEeeE $
o IRHTH g (Affinity) @1 82
w F, ® I

© Cl, ®)  Br,

Page: 12




at. ify= cos 143 then -ngI” be

(A) None of these (B) _342 A) FE (B) 342
Vi—x® 1—x6
© -1 (D) -3 () -1 (D) =3
1—x® ;2__\{1—:_\;5 1—x8 X231 %

52. 8 coins are tossed simultaneousn‘y. The
probability of getting 6 heads is

(a) 7 (8) 249 7 (8) 249
64 256 64 256
(© 37 (b) 57 () 37 by 57
256 64 256 64
% The centre of the sphere M 2 +y 4224y y 6y—8z+4=0p
xz+y2+z2—4x+6y—82+4:0is W P 2
(A) (-2, 3, 5) (8) (-2, 3, 4) (4) (-2, 3, 5) (B) (-2, 3, 4)
(@ (2,-3,4) (B) (0, 3, 5) © (2, -3 4) (D) (o, 3, 5)

: dy .
If vy = 2% then & is
y 2 da

(A) 2f2% 1) (8} None of these
() px, log, 2 (D) 2%
log, 2
TS |
I lsinx|dx is
(A) 2 (B) 1

(€) None of these D)o

: S g d.
aﬁ' yhz.a} Ex{%

W ox@ron @ wg g
©  2%.og,2 o) =
log,2
. 2n
f}sinx[ dr &
(a) o (B) 1

€ B & @ o

Page: 13
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56.

61.

The angle between the two lines
2x =3y = —zand 6x = —y= —4zis

(A 1 (8 T

3

© T (D) 0
2

The 10tk term of theseries2+4+8+16+
{A) 939

(€) None of these

() 836
(D) 1024

If y= 7x5 — 5x* + 3x2 +x — 1, then

iy .
the value of <2 is equal to
dx3

(A) 420x2 — 120x (B) 420x% + 120x

(©) 120x2 — 420x (P) None of these

The value of

m_ia—b A b-c 4 s c—ais
1+ab 1+b.c 1+ca

() T (8) 1
s

@0 (D) -1

The slope of the curve x?y+yix =62t

point (1, 2) is
(A)

(8)

(© (D)

ol o1 Wi W

The square root of Z=-15 + 8i s
(A +(4+30) ® +(1-3i)

(D) None of these

(© +(1+4i)

56.

61.

ﬁ‘riﬁfaﬂ 2x=3y=—% Sn?
6x=_y=_-4z'$mﬂ$rm%

w ® T
3
o K (D) o
2
S 2 + 4 + 8 + 1B F rerines BT
10d7 UE
(A) 939 (8) 836
(© @S T8 (D) 1024
afe y= 725 -5x* +3x2+x -1

a Sy mEA R

ax®
(A) 420x2— 120x (B 420x%+ 120x
© 120x2 —420x (@ BIg =l

ot a-b P b-c 4 €3l
1+ab 1+bc 1+ca
a9 &
w T (B) 1
2
© o (D) —
L qF  xlyiyix =6 B oA g (1 2)
| B
(A) 8 (8) 4
-5 ~
(©) z (D) 5
3 8
7 = 45 + 8 & A &
W  +(4+3) @ (1-3D
@ (1+4) O P TE
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63.

- A fair coin is tossed 6 times. What is the | sz & RieF @ 6 9] S SIGIEE-a
probability of getting at least 3 heads ? UG B W B o i e &
(a) 11 8 3 uifrar enft
16 64 (A 11 (B) 3
© 1 o) 21 16 64
Ig '33_? (C) i (D) 21
18 32
The sum of all even numbers between 1 and (55 1 R 151 el & g ot um
151 s IS BT AnT &
(8) 5700 (B) 5800 (A) 5700 (B) 5800
(€} 5900 (D) None of these (©) 5900 (0) FE &
" 2 8 64. 2 38
The value of (51?4 & _::J will be {,53 L —_z_) BT A9 BT
72, i
(A) 256 (8) 257 (A) 258 (B) 257
(€) 258 (o) 0 (€} 258 @) o
The angle between the planes 85. JHTST X+y+2z=6 R
X+y+2z=6and 2x —y1z7=9js
(a) T (8) T
E g (A) E (B) E
2 6
© T (o) T =
3 2 (@ T o T
3 4
If 2cot?8 = cosec?@, then the general | 8. gfe 2c0t?0 = cosec?g A @ BT UH :
value of @Qis q =3
: Ni T
(A) nm+ 2 (8) nm+ # " nmw+ — o o + -
4 3 4 3
T
€ Noneofthese (o @ 15 & L
2 2
104
i Page: 15 581804



67. ' .
” Thevalue of sin (cgs-i 3) is
z

(a) 4 (8) None of these
5

© 2 (D) 2
5 5

cos15©9 sinl5s
5in159 cosl15

The value of determinant

is

|
W V3

(8 2
2
©1 o) 1
2
® Thevalueof lim e will be
xrQ X
(A) -1 (8) O
©1 D) oo

70. The middle term in the expansion of

1 10,
! 15
(x+2)
(A) 306 (8) 252
() 152 (b} -300
I f(x) = ?'—"then the value of ff(x)is
—X
X xz
x

3

70.

T4

g
(" 4 ®) g T
5
(© 2 o 2
5 5
150 i 0
cos sinl5 e
sin15° cos15
A /3 (8) A2
2
(€ 1 (D) 1
2
;=1
lim 22 % %1 919 8
=0 x
(a) — (B) 0
() 1 (D) o)

(s 2% e % 1 v @

(A) 306 (B} 252
(€) 152 (B) -300
ae f(x) = i_‘fﬁa’r f(x) @1 9§
—

(A) 1 (B) 1

¥ x2
(€ 1 (D) o

x

Page: 16




72 The nt® term of the series -1, 3, -9, 27, 72. gofy -1, 3, -9, 27, ... B nal ye 2 |

is

{(A) 3{1—1 (B) __(__3)13-—1
(c) —-(3)“"‘ 1 (D) None of these
s The value of J.e"{‘—' dxis o
W o= +Vx4cC
(8) 1
seF(Vr+1)+c
@ 26% (vx-1)+c
(D) None of these
74, 2
sec y
f :\ d_‘\; is
cosec x
A tanx+x+c¢ (8 —tanx—x+¢

© tanx—x+¢ B —tanx+x+ec

5. The equation of the ellipse whose minor axis | 7s.
is8and e = iis

(A 8x2 1 9y2 = 149
B) 9x2 4 8y2 = 144
© 8x2+9y2 = 144

(D) None of these

.
Thevalue of Jim (1 +i) is "
X =00 x
(A) e (B) ¥
| [C) -1 (D)o

(A)  3n-1 (8) _(—3)m-1
@  _(3)n+1 0) Frg &f
,‘eﬁ dy BT 79 &

(A) evx o Vx +C

(8)

i
EE‘JX (V(E + 1) + €

@ 2e% (vx-1) 1

©) BIg
[y A g
cosec’y
A tanxiryee
B) _—tanx— x+c
(<) tanx—x+¢
) _tanx+4 o +c =
ST BT wEr § Ry Y A FT i
’HFT 8 Sﬁ? g = E g— E
2 =
A 8x2 + 9y2 = 149
(B) 9x2 £ 8y2 — 144
© 8x2+9y2 =144
@) 35 &
lim (1 -,Li)x?f’_r A &
X=oo x
") o (B) %
(C) g1 (D) g
-
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78.

79.

81.

The value of series
nC1+nc3+nC5+ .......... iS
(A) zn—i (8) 2n+1

(C) None of these (D) 2n

If f(x) = 8x° and g(x) = x*/3, then the
valueof (gof) (x)is

(A) 2x (8) 3x?
(© X (D) x
2

If =21+ 4]j-kand b=3{—2]+ Ak be such
that 3 | 5*, then the value of A is

(A) 2 (8) -2
{c) 3 (D) -3
. The modulus of Z=-3-4iis
(A) 5 (8) 3
() 6 (D) 4

If mC = 1GC & then the value of mc
F r— v

is

(A) 206 (8) 210

() 209 (D) 208

The solution of the equation

4sin™x 4 cos™ix = mis

(A) 2 {B) None of these
=3

(9] : 3 (D} ; 5
x=g =3z

T7.

2ot

MCy4"Cat "o nnn..... T A ©

(A) 211-1 (8) zn-i-i

© 35 T (o) 2m

- AE f(x) = 8x® <IN (x) = x1/3 ar
g
(gof) (x) P 77 &
(A) 2x (8) 3x?
© = o x
2

e 7= 2144} kIR B=31-2j+Ak TP
TR F TG B, W A BT A B

(A} 2
@ 3

(B) -2
(o) -3

.7 = -3-4j &1 HIUP B

(A) 5 (B) 3
© g (D) 4
afe 10 Cr___ 10 Cr+2 ar 10 Crm
A '
(A) 206 (B) 210
€ 209 (D) 208
FHIHROT 4sin*x+ cosTlx=m I
B
W 2 (8) g &l
=%
(© 1 (D) 1
X = § ¥ = E

Page: 18




= & 1 "
i f(x + ;) = ¥*q = then f)is

2!

(A) x2 (B) x2_ 14 B HE §
(A) 52 (B) y2_4q
(©) None ofthese (o) 2 _ % %
© g =8 B 2.5
8. The value of 84, . (n-1)(2n+1)(3n+1}(4n—1)
= B AN &
tn O 0G0+ DG+ - D equayto | lim =
B * (A 29 (8) 24
(A) 20 (8) 24
© 26 (D) 2g
(© 26 (D) 28
85. 34 1 vyviT7 o 85, [3 47 T1 7 }'7 0”
If 2 [+ [= /then the + e IR
[5 x! [ﬂ 1} 110 5L b 21_5 ! [o 1! j10 517 %
values of xandy are y F 99 F
(A) 2,-8 (8) -3, 6 (A) 2 -g (B) -3 &
@ 3,-6 (b)-2,8 @ 3, -¢ (D) - g

88. The equation of directrix of the parabola
¥Z = ——43})‘ is
(A)y =43 (B)y=-3

(A) Y = 43 (B) V = -a
@ y=3 (D) None of these (c) V=3 D) FF T
37, i _ﬁ_ L _i 87. = _§_ " =1 _‘E‘:_
I PO=3 . P@®=2and |vap P@W=1 pe)=2 ik

P(AUB) = {ilthen the value of P(4/B)| P(auB)= f; 8@ pasp) @ An

is g
(A) 5 (B) 5 {A) 5 (B) 5
7 6 7 6
(€ E (D) f © 6 (D) é
7 5 7 5
Page: 19
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-

: 4" Rk _J1 47
” IfA=B Bl,thenthevalueof AZ — 4Als e A = 1:2 3],?ff A% — 4A BT HH
(A | (8 3 2
B
(© 0 () 5 W1 ® 31
© o (D) 5]
. Thavalue of ® cos™t (cos 2?“) +sin™? (sin 2?“) BT AE B
= 21| o . 2N -
cos 1({:03 —3—)-{- sin™! { sin -3—) is @ ® o 3m
(a) T (8) 31 3 4
. 4 @ % (o) 4m
(© T (o) 4w 2 3
2 3
% The value of 0 (cos® +isin®)*- (cos® —isin@)®
(cos® +isin8)*: (cos® —isin€)®is il

) (cos® + isinB)® (cos6 — isin8) (A) (cos® + isin®)

(© (sin® + icos®) @ (sin® — icos 0) ) (cos® — isinB)

(€ (sin® + icos®)

() (sin® — icosB)

ot If f(x) =+/9 — x2 thenthevalue of dom(f) | ot A& f(x) =9 —x2 dar  dom(f) &I

is B
(A) (—-ml = 3] (B) [_33 3] (R) (_mi - 3] (B) [—31 3]
© [3, ) © [3,)
(D) (—oo,—3]u (4,%) | ©  (—o0,—3lu(4,%)
s2. The length of perpendicular from a point %2 fg (2, 3, 1) o AT
(22 3, 1) on the plane 2x+6y-3z+16=0 W T Y AN
2x +6y-3z+16=0Is & g
(A) 5 units (B) \,/E units (A 5 szmg' (B) '\!E gaﬂé
(€) 6 units (D) 13 units © & THIE D) 13 THE
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% The maximum value of function | wep fx) =3x* —8x3 + 1242 — 48x 3 25
g g3 2_ 0
fx) = 32* —8x3 4+ 1222 — 48x+ 25 on [0, B HETH AT [0, 3] R ¥ |

3lis (A) -9 (8) 16
(4 -9 (®) 16 @ 25 (0) -39
{c) 25 (D) -39

% If f(x) = a% thenthevalueof F(x)is |s ufe fr) = a% @ f(x) &7 a9 &

(n) a* (B) None of these (A) a* (B) HE T
log.a log.a
(€ ax'}Oge& (D) x= Iogea Q) ax-logea (D) = ]ogea
o ThevaiUEOf X L 5 ?x(fxﬁ)%—}'\x(ﬁx?ﬂﬁx(iﬂxj)aﬂ a7
ix(jxk}+j><(kxi)+kx{i><j)'5 ) 1 (8) 5
(A) 1 (8) 2 © o (0) g &
(o (D} None of these
%. Which one of the following is a scalar|os =1 & arfeer AYE ¥ :
matrix? (A 6 0 (B) Hr$ &
(A 6 o“] (B) None of these LO 3]
[0 3 © [-8 07 0) M1 17
©[-8 07 (O} [1 17 0 —8_-I 1 1]
0 -g 1 1!

7. The solution of the differential equation |or. FaHe e Y _ ¥ty BT B &
d—y = ex+y is ax

dr () B 7 (B) ¥ — ¥ =

(A) None of these B) e — ¥ =

€ e*+ e Y= (D e+ eV =
© e+ e¥Y=C (D) e+ e =

T

581804
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6 . cosx % = Jcosx

‘ The value of dxis dy @ 99 ®
;[ AJsinx +/cosx * fsinx ++/cosx
(A T ® 7 n ® T
6 2 6 2
© T o) T ¢ = oy T
3 - 3 -

@ Ifinthe AABC,a=1b=2 2sA=30%|® 3 aaBCc % a = 1 b = 2

then the value of 2Bis ZA = 30° 9 4B &1 TH g

Wz . w ®
3 2 3 2

© 7 D) m © = @ T
-1 4

100. 1£ y = 33 &+ %—- 610gex —3. Then the 100 3fg y = 3x3 4 -x%_ glog.x — E ar

value of gxiat ¥ = 3 will be r=3 ® %rﬂqﬁa‘m
(a 2932 (8) 239 (A) 293 () 239

3 3 3 3
(c) :”E (D) None of these (€ ﬂ (D) BIg

2 2




